Câu 1:  [1H2-1.4-1] (HK1 - K11 - Năm 2021 - 2022) Cho hình chóp 
[image: image1.wmf].

SABC

. Gọi 
[image: image2.wmf]M

 là trung điểm của 
[image: image3.wmf]BC

 và 
[image: image4.wmf]N

 là điểm thuộc cạnh 
[image: image5.wmf]AB

 sao cho 
[image: image6.wmf]2

BNAN

=

. Gọi 
[image: image7.wmf]I

 là giao điểm của 
[image: image8.wmf]MN

 và 
[image: image9.wmf](

)

SAC

. Hình vẽ đúng là 
	 [image: image10.emf]S

A

B

C

I

M

N


Hình 1
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Hình 2
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Hình 3
	 [image: image13.emf]I

C

B

A

S

N

M


Hình 4


A. Hình 1.
B.  Hình 2.
C.  Hình 3.
D.  Hình 4.
Lời giải
Chọn A
Vì 
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